EARAROBEEIERT — 2 N— IBISH —F 201358H220 (k) 6El/Ii4H

(Ll 7% —ft C3=mA (xwlw | mEmml - v ) w8
[A&£] 1 7 :800,000 @ ~ 23&:240,000 § 37 :144,000  ~ 4 3% :96,000 5 7 :80,000 M
B RSB BESE Mk M BF (F8) g4 L (B%) | BBIER | LOF |SIEH | A | BE | BB FR) / Bx / £ERS
lglilmyFvy # o4 | EEE 1;(3_7).1 2322 |39.3| — | 1 ff; E%i_ (111)
RTIvoaFY—K BIL IRy F R
olslg| F—t>F—FKU— 4 gjlf%%ﬁi (11:317/.23) 1-1-1-1 | 39.7| — | 4 | 48 gﬁ@g (@)
QAW KT Y20 BiIL—APLKIA—1— O arr-s
3 712F%AX o4 | B (11317/26) 8-9-8-7 |39.2| — | 8 | 425 %ﬁg%i (e
RFLIIVR BRAXTA T~ | mss
4 NEEZUEIN 4 | BES (11:317/.5 5-3-55 |39.7| — | 2 | 465 gﬁii (i)
RN=UI74 B:T7V—-FL LA 59 () #AEI-KL -3 ALT7
sl7]g|3xEIOYLLY 6 EE%I% 1(737t§a 4-56-6 |39.7| — 3 507 ‘};ggg (Mlites)
QAR HE—y B AT © i s
6 gl 7= KE—A # 5 slﬁsggnﬁ (11:318/.21) 7-7-4-4 | 401 — | 6 | 464 ggg? (#ats)
LYy h—F—d BI—LKTTLR Y e wx
o EARER . _D_0_ _ — ;i
e P H 5 g’:ﬂgﬁk 1(/3{;; 3-2-2-2 | 40.3 9 (4_611) ?Jﬁ;liié (@)
LAy IFTITINGN B4 YT~ B EX
glsls|ESY7—H 4 s#gi’ 1:38.3 10-10-11-9 1 39.3 | — | 10 | 446 f@%;‘ég (##)
. 1 o 2
LFaTHN BiEsTov v @ 4a77-4
9l1l1|#73€77— 4 E}i;gﬂﬁi 1(/3% 9-8-9-10 [39.9| — | 12 (4_713; ;ﬁ%fﬁ (a#n)
WHsIO-LIL BYsIx e E e
w0lglipl P bFsy K 7 ?éﬁ%’rék 1(:13/82.)4 11-11-10-10/ 39.6 | — | 7 | 466 m;%é (&)
ROV ayF BNITLURETY 2 |28 =
1N 3| 771 Lt by 7 o7 57%’%%: 1:(328>.8 6-6-6-8 |40.7| — | 5 | 476 Lﬁ;ﬁ? (#ats)
LT EYAYAT—> B:FANE—Ya %6 | Bk
" NECERE Y i 4| el 1:?90).7 12-12-12-12( 40.5 | — | 11 | 454 ?gfiﬁi ()
QiHIA—Y—X Bi¥FAET A% 08 | mmei mmas
® 1 —F—@EBIBfL
12—7— |6,11,10,9,2,3,8,7,1,5,12,4
232—7F— |6,10,(2,11),9,3,8,1,7,5,12,4
83—7-— |6,(10,11),8,2,(3,9),7,1,12,5,4
43—%+— 6,(10,11),8,2,9,7,3,5,(1,12) ,4
0 LRE
B 11 190 | [ 71 K 6-11 610/ | | £ & 5-8 1,130/ | | 3=& | 6-7-11 5,160/
B B 11 140/ 7-11 780F3 | | # E 8-5 1,400 | | SEE 11-6-7 19,060
6 260M 6-7 2,220 | | B = 6-11 1,470M
7 370M ] 11-6 1,960/

ABICOVWTRDTEEERROODE. TR LIV,



